Vyteste soustavu rovnic

2016,/2017

. 201 + 2290 —x3+ x4 =0 . T+ 209 —x3+24 =0 e 201 + 220 —x3 =0

3r1 — 2o +x4 =0 2x1 +3x2 + 23+ 3124 =0 r1—xo+2x3=0
31 — 229 — 223+ 224 =0 3r1 —x9—3x3 —24 =0 3r1 +x5=0
—3x1+ 102y — 23 —24 =0 201 +2x2 + x4 =0 201 + 222 —x3 =0

2. 10.

—3x1 — w2+ w3+ 324 =0 Ty + 2x2 + 3x3 +4w4 =0 19. o1+ 2y — st 204 = 0

221 + 2wy — 273 — 224 = 0 4y + 320 + 223 + 24 =0 321 + 319 — 23 + 224 = 0

—1 —3z2+ 323+ x4 =0 221+ wp +4ag + 324 =0 9y + %y + s g = 0
3w + 225 + Hxy =0 3z; + 4z + 23+ 224 =0

3 11. 20.

. Ty —23+x4=0 211 + 2w — 23 =0 209 —w3 + 224 =0

2r1 + 3y + 24 = 0 1 —x2+x3=0 31 —zo+124=0
3z1 + 3z — 23+ 224 =0 3z1+ 32 =0 Sv1t a2 =@y + 3wy =0
21 4+ 322+ 224 =0 221 + 329 —x3=0 3x1 + 322 — 223+ 514 =0

12.

B 209 —x3+ 224 =0 3714202 — w3+ w4 =0 2L 3x1 + 222 —x3+ 224 =0
3ry —wo+2w3+24=0 Sy + 2w + 304 =0 3z1+ 3zt a3+ 24 =0
31 +x2+x3+324 =0 301~ @2 — 303~ 24 =0 Ty + 203 —x4 =0

Bt +3m+bea=0 a0 o,
5. 321 — 2o+ 225+ 24 =0 3x1+ 212 — 23+ 274 =0
—o1 @3+ 24 =0 321 + 22+ 23 + 324 = 0 3z1+2x3 +24=0
2z + 223 — 23+ 224 =0 21+ 275 + 324 = 0 2x1 + 19 +2x3 — 24 =0
2wy —3r3+414 =0 14 2@ — 2209 +4x4 =0
=921 —6x2+23=0 1+ 2w —x3+24=0
—x1 =212+ 323 =0 2x1 + 3x2 + 223+ 324 =0 23 271 4+ 219 — 23 =0
6. 311 —x2 —3x3 — x4 =10 T —Tg+ a3 =0
222 + @3+ 224 =0 15. xry — 29 +3x3 =0

3r1+ 29 +2x3 +x4 =0
T1+To+x3+24=0 4r1 —x9 + 23 +424 =0

T, + 3xs + 223 + 324 =0 10z1 — 229 + 23 + 1124, =0 24.
7 —2x1 4+ 3x9 — 8x3 +3x4 =0
201 4+ 220 —x3+ 224 =0 To —3x3+2x4 =0

2 —_ =
1 3+ 3:1;4 0 21’1 + 3%2 + x3 = 0

1 —23+x4=0
3x1+3x2 —x3+ 224 =0
201 + 220+ x4 =0
—2x1 — 6x9 — 223 =0

R
3x1 + 29 — w3+ 324 =0 3x1 + 222 — w3 + 224 =0
31+ 329 —x3+ 224 =0

To+x4 =0

25.
201 + 20 —x3+ x4 =0

3r1 —2x9 +x24 =0 17.
3x1 —4x9 — 223+ 224 =0
731’1 + 111‘2 — T3 — Ty = 0

—21 — 23+ x4 =0
21 +2x9 —x3+ 224 =0
3x1 +4x9 — 3x3 + 524 =0

711.’E1 - 61‘2 — 21’3 — Xy = 0

29 —x3+ 214 =0
3r1 —x9+ 223+ 24 =0
31+ 29 +2x3+324 =0

2x1 4+ 220 4+ 224 =0

—x1+ 510+ 23—24=0 —4xy — 219 — 23 =0



Vyteste soustavu rovnic

1. 14.
r1=—6r, xo =7, x3=9r, x4 =197, r € R.
2. 15.
T1 =T, xo=—-r, r3=—", x4=1, T €R.
3. 16
1 =3r, xo = —2r, x3=3r, x4 =0, r,s,t € R, )
4.
1= —2r—8, xo =8—3r, x3 =28, x4 =3r, r,s € RI7.
5.
x1 =8r, xo = —13r, 3 = —6r, ,s,t € R. 18.
6.
T =—8, To=—-T—8, r3=28, x4=71, 7,8 € R. 19
7.
T1=8—71, x9=358, xt3=4s, x4 =1, 17,5 € R.
20.

8.

x1=—6r, xo =71, x3=9r, x4 =20r, r € R.
9.

33‘1:0, LL’QZO, {E3:0, 1‘4:0.
10.

T1 =71, x9=-r, r3=—"1, x4=1, T €R.
11.

1 =0, 20 =0, z3 =0, x4 = 0.
12.

x1=Tr, xo = =61, z3=9r, x4, =0, r € R,
13.

x1 =71, xo = —167, x3 = —14r, 4, =9r, r € R.

2016,/2017

1= _7T, T2 = —16T, xr3 = _11T7 Ty = 28T, re Ra

r1=8—3r, xo =065 —4r, x3=2s, x4 =2r, r,s € R.

r1=1r 220=0, z3=3r, x4 =0, r e R.

r1=-1,x3=1r, 3=2r, x4 =0, reR.
1= -1, xo =3r, x3 =4r, r € R.
r1 =31, xo = —6r, x3 =71, x4 =57, r € R.

1 =8—2r, o =35 —3r, x3 =68, x4 =3r, r,s € R.

21.

x1 =5s —4r, xg = 3r — 6s, x3 =3s, x4 =3r, r,s € R.

22.

23.

24.

25.

Tl =-T,Ta="T,T3="T, Ty =7, 7 ER.

$1:0, .TQZO, $3:0, 33‘4:0.

r1=-1,x3=0, x3 =71, x4 =2r, r € R.

T1=1—28 0 =35—2r, xt3 =28, x4 =71, 17,8 €ER.



